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Answer all questions

This Question Paper consists of 15 pages. Each Multiple Choice Question
IMCQ) 1s provided with four options (A), (B), (C) and (D). Identify the correct option

and darken/fill the corresponding circle (A)/ (B)/(C)/(D) with Blue/Black Ballpoint
Pen on the OMR Answer Sheet.

For cach question, 2 marks will be awarded for correct answer.
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1. Which one of the following is a protcin hormonce?

(A) Androgen A Insulin

(C)] Ocstrogen (D) Progesterone
)1 Rufafe st s carfe cnfes vaga 2

(A) EIOK®S (M) Fepyfary

(C) BOPeS (D) caenbea

3. Sccondary spermatocyte developed from primary spermatocyte contains

(A) 44 XY chromosomcs (B) 22 X chromosomes

(O 22 Y chromosomes

4") 22 X or 22 Y chromosomes

(B) 22 X cpzaes

(D) 22 X www1 22 Y coarwrs

(B) glomerulus

(D) distal convoluted tubule

(B) CIIeaTH

(D) Priad aferers

4. Suate of ngidity that develops in the muscle after death is called

(A) fauguc (B) rigor mortis

(C) telanus {P) contractility
81 Ygi o o 9% & o sy dice ww

(A) Uy

(C) Tocbipy

(B) NAPRCS®
(D) NZRere




(A) Electrostatic precipitator (B) Catalytic converter

(C) Scrubber (D) Auxanometer

¢ e vase won el apme Rug Taes w a9

(A) Weadronfia cafifoiciba (B) anbefefbs sreri

(C) W14 (D) SHCAROA

6. Human ABO blood group is an example of

(A) uniallele (B) multiple allele

(C) dominant epistasis (D) recessive epistasis

Y VTR ABO IS0 T3 THTEAY O T

(A) 2Sfsnfes (B) Wifbew wmfers

(C) <ab af*ronfm (D) emeg gfonP

7. Oral contraceptive pills help in birth control by

(A) destroying sperms (B) klling ovum

. Which of the following instruments is not used to control air pollution?

(C) ovulation prevention (D) forming barrier between sperm and ovum

71 sréfazaiee afe oy g 3

(A) BVFI VTR T (B) 79 T MUy

(C) foue fRefas v 3@ ATy (D) B ¢ @R F qu 5 I

8. Which one of the following antibodies is present in the blood as pentamer?

(A) IgA (B) IgG

(C) IgM (D) IgE

¥y Pruffe com MR 2o corbrm R 38w 2

(A) IgA (B) IgG
(C) IgM (D) IgE
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®. Onc gene one enzyme hypothesias was pl‘oﬂo"d by

(A) Fleming and Tatum (B) Beadle and Tatum

(C) Watson and Beadle (D) Watson and Crick
a1 aeft s et grwitn waltn ver wwm

(A) @Rt g (B0 B) ffm R0k

(C) eubiy gat Rftw (D) aubwA fare

10. T. H. Morgan discovered linkage through his experiments OF

. aster
(A) Pisum sativum (B) Dmsophlla melanog

(C) Apis cerana indica (D) Nicotiana tabacum

ye ! . 9%, Naora foices wfIga 33w TR ToR «Arw 33 Gifv 2
(A) Pisum sativum (B) Drosophila melanogaster

(C) Apis cerana indica (D) Nicotiana tabacum

b ~

-

11. Chromosome puffs and Balbiani rings are found in

(A) polytene chromosome (B) lampbrush chromosome

(C) holokinetic chromosome (D) B chromosome

) | CHEICEN T g2 HfAua &2 onew Ty

(A) “fefoa s (B) ST CIFICNICEICH

(C) ZCNSIEHDE CFFIATHICH (D) B (HFICICEICH

12. Sertoli cells are found Iin

(A) tunica albuginea (B) seminiferous tubules

(C) infundibulum

(D) stroma

SR | HAHIfA oM *neq Iy
(A) C¥S WRHIS B) cfRfiteas aftrcs
(C) TwfefRtems (D) CHNICS
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13. lateral ventricies of the brain are connected to third ventricle by the

(A) central canal (B) vagus nerve

(C) spinal accessory nerve (D) foramen of Monro

g1 Wi8cxa o arehve v wm g8 scern wow T o

(A) (#8N aia (B) cwam Wy
(C) *»M=w WP w18 (D) wacamn fia
14. When a pair of homologous chromosome is lost from a cell then it is called
(A) nullisomy (B) monosomy
(C) trisomy (D) tetrasomy

>‘ll (BT (™ (P YW O9F (OTO1 CRICNTCHINT (FITNITHTY (1% *(10 O O3 I

(A) =leicenfy (B) AR
(C) fErenf (D) CopwcenfR
15. Prostrate gland is a
(A) male primary sex organ (B) male secondary sex organ
(C) fcmale secondary sex organ (D) female primary sex organ
3¢1 200 el 24
(A) “f#78 Y9 T (B) *@7E (M e
(C) Reoncaz ¢ s (D) Feeeaa g0 A=
16. The rescrve pacemaker of heart is called
(A) SA node
(B) AV node

(C) bundle of His

(D) epicardium

i 2HACEe Wl v foRNe-ce o W
A) €H.9 (S
B) «.fs e
(C) f3ren sgum

(D) «fofEurs
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17. The silk fibre ia composed of

ctose
(A) fibroin and sericin (B) fibroin and fru

c
(C) eericin and salicin (D) salicin and alanin

N1 (W Oy V1 fizy oW w W

(
(A) TR s GfRfHA (B) wezaits @ ™
(C) ﬁﬁﬂﬂﬁﬂﬂﬁﬁﬂ (D) 'ﬂnﬁﬂﬂﬂmﬁa

18. The lock and key hypothesis of enzyme action was proposed by the scientist
™ Fiacher (B) Kiihne
(C) Buchner (D) Khorana

Yy TSI (PR S1eT-5IR TSI o wewm R
(A) g B) 3

(C) 917 (D) CYIA=I

19. The bacterium used in the synthesis of vitamin C is
(A) Azotobacter chroococcum (B) Bordetella pertussis

(C) Gluconobacter oxydans (D) Pseudomonas denitrificans

31 ROfs ¢ sieney azs arenRu o=

(A) © Azotobacter chroococcum (B) Bordetella pertussis

(C) Gluconobacter oxydans (D) Pseudomonas denitrificans

20. Which of the following is not used to treat malaria?
(A) Chemoquine (B} Chloramphenicol

(C) Chloroquine (D) Plasmoquine

20| Jgafam s Pfdeny fagfafies @it aems @@ 719
J

(A) RTA1PEA (B) @RNEAFa
(C) @ICAIF% (D) HTSCATPEA
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al Presence of excess protemn n urine ia called
(A} lipuria
{3} oaleul
(O albuminuria

(D) harmetuna

Ry YT wine e cwficae Sefefdces am

(D) feepin

22. The process of polypeptide formation from m-RNA s called
(A} transcription {P] translation

(C! replication (D) reverse transcription
221 m-RNA (73 »ieovh%s (o2 26US W

(A} Greiders (B) Leem=

(C) e = (D) faent freflems

53. Which one of the following 158 not a proteolytic enzyme?

(A) Ptyahn (B) Trypsin

(C} Pepsin «B) Lecithinase
1e fufefeesing st (ol confia feheBem Sepme w2

A) Do

(C) ¢
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24. Black lung discasc is mostly seen in

(A) workers of asbestos pipe manufacturing

(B) workers of coal mincs

(C) tannery workers

(D) paint industry workers

81 AN o e (Al oMS: TR W (R AW, OTdl XA
| (A) ST ok Rfie =Rl

(B) dyeafize ofas =fis

(C) wi=icw e =fie

(D) « Mg e =fis

25. Sccretin is a local hormone secreted from

(A) pituitary gland
(B) ovary

(C) testis

(D) duodenum

g P& ame e zacaEfta WA T aem e oS ==
(A) 1520 af@
(B) feumm
(C) worm

(D) 139

26. Loffler’s syndrome is associated with

(A) kala-azar

(B) malariag
(C) filaria (D) ascariasis
Wi R Begm I3 siew wie o) 25
(A) TR (B) Smesfaa
(C) wPgafam D) S fRnfm
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q_/gl 3% (R B I TR w7
(A) 31 COTE

(C) 12 C&T%

(A) cpicardium
(B) endocardium

(C) pcricardium
(D) myocardium
1{ | 2H{oCod #fBICaq ¥ YFAE IH

(A) aforerféury
(B) TSI
) coifaerféurs | TS
(D)
29. In which phase of the cell cycle DNA replication takes place?
es place
(A) G, phasc B) S Phn:
(C) G, phasc (D) M phase
i @A (IR 7T DNA-T SfArRae som 3 ?
(A) Gy "™ (B) S
(C) G, ¥ (D) M

30. Which one of the following statements is not correct for glycolysis?

(A) It takes place in the cytoplasm

(B) It is the first step of respiration

(C) It takes place in presence or absence of oxygen
tochondna

(D) It takes place in the inner membrane of mi

[ P.T/0.



BV, Whinh wie wf
(A} oot s

() Cat

* v i ninirantng weni e 1wy nM) wy
(A) oty

(€C) 1gin

33, Oonorrhonn,

(A) Treponema putlichiim

(C)  Prevudomoras repicin

A Treponema patlicdiumn

(C)  Vaewudamonas el

o5 | Notlau A Mo sia ywfas (M iay on

33. The main component of plant csll wall Js

(A) mucopeptide
(C) cellulose

o9 UiBn ca1ma afiliaa yu Yavna o
(A) Tl%miaAnmy

(C) o1imie

34. The end products of heterolsctic fermentstion s

(A) ethanol and €0,
(C) Jactic acid, butyric scid snd 0,
e8| hamnalsn A wim VA AanArin o
VAR 4
(A) “4ein ¢ CO,,

(C) wafhs sy, (4u5as wifss « Co,
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(H) Wal
(1) Dog

(H) WA
() 274

the wexiinlly ransmiied diwenna 1o vnuaed DY

Huollhia pulytnyx i

Nutaneria yonorrhoeus

Huctllus polyriygxd

Nelageria (onorthneies

gycogpn

polysster
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35. Inflorescence of mango is an example of
(A) umbel (B) panicle
(C) corymb (D) cymose
of | SOTOR >R TR TR 91
(A) STCE (B) *mfas®
(C) ¥y (D) T

36. Which of the following cells is termed as ‘signet ring’ cell?

(A) Goblet cell (B) Fat cell

(C) Purkinje cell (D) Leydig cell
o1 FafiRe @mafr @mite Frt &’ @m 3 w7

(A) RSB (B) R @M

(C) °maf&=fe (D) s ™

37. The word ‘Kinoplasm’ is related to which part of the cell?
(A) Centrosome (B) Chloroplast

(C) Nucleus (D) Vacuole
0| FIEARS *4(D (P (I SR K FTES ?

(A) CTCRICS™ (B) GRS
(C) fShur (D) SIPSH

38. Which of the following are essential fatty acids? https://www.tripuraboard.com
(A) Palmitic acid and Stearic acid (B) Linolenic acid and Linoleic acid

(C) Linolenic acid and Palmitic acid (D) Oleic acid and Lauric acid

ob | FafifReafn T @maR aoEtEE b s 2
(A) nfafes soife ¢ Foufas smfe (B) feamaf e smbe ¢ e s
(C) fazmafae smbie ¢ «(1fifte smfre (D) SzE%e WS 8 #f3s wfie
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39. 'Mushroom gland’ is a part of which system of cockro

(A) Digestive system (B) Nervous gystem

(C) Reproductive system (D) Respiratory
o1 TR ofR’ WRTTHR (T SR WG 7

(A) R g B) T

(C) &9 D) ;

40. Terminalized chiasma is seen in which stage of meiosis?
(A) Telophase I ®) Diak esis
(C) Diplotene D) Leptotene

891 RuBeR @R *rf i Fmmen or w2
(A) COTATCT | B) -

(C) fenfom D) CrORR

41. Which stable compound is first synthesized in the carboxylation phase of Calvin cycle?
(A) Malic acid (B) Phosphoglyceric acid
(C) Phosphoglyceraldehyde (D) Bis-phosphoglyceric acid

8> @S ST I f@fSwad vmy 2w @ N oD Beom =2
(A) Tfere =re (B) wiwipIRe s

(C) TAFMACRACZZS D) RA-TwiFRe s
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3. Maximum amount of root

Pressure can be

(A) 0-1-1MPa (B) 1-1.5MPa

(C) 10-20MPq (D) 1-10MPa
sY1 YT BICHR ﬂﬁma%ﬂamm

(A) 0-1-1MPa (B) 1-1.5MPa

(C) 10-20MPa (D) 1-10MPa

43.

Identify the correct statement from the following
(A) Succulent parenchyma cells have large vacuoles

(B) Tracheids and trachea are living cells

(C) Cells of collenchyma tissue are dead

(D) Idioblast cells store fat

B/M FaffResf e 5B Bl fidms =7 -

(A) TETETD AR (0 30T STPS ACF
(B) Ffew e fifewm ol §fke
(C) CRFATEET T4 @18 7o

(D) 3fTSAPG @M1 BIH Y ILJ

44. Which of the following is an artificial plant hormone?

(A) Indole acetic acid (B) Cytokinin

(C) Naphthalene acetic acid (D) Flongen

sk Fraffresfa w2y @110 $faa Tfew 23 2

(A) Zicere smbifoe smbic (B) RO
(©) menfer sfibe e (D) amfiTe
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45. Which one of the following is the initiation codon?

(A) UAA (B) AUG

<) AAU (D) UGA
sy”ﬁ‘iﬁﬁ'\mﬁa @M omaRe @rew 2

(A) UAA B) AUG’

b DAY (D) UGA

46. Restriction enzymes were discovered by

(A) Watson and Crick (B) Jacob and Monod

(C) Boyer and Cohen (D) Arber, Smith and Nathans

37‘\ ElFH E Y- SRR 3w

(A) SUHA 8 fore (B) W@ € (NS

(C) |WHR 8 (= (D) WRAR, e 8 anere

47. Interveinal chlorosis occurs due to deficiency of the micronutrient
(A) manganese (B) magnesium
(C) 1ron (D) calcium

891 @ FEIfde (MR wo? ws:a @it = @ ==
(A) TR (B) neABRIR

(C) (=2 ' (D) FTTeA TS
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48. Which of the following is an aromatic amino acid?
(A) Arginine (B) Serine
(C) Tryptophan (D) Tyrosine

8y RfaRe it wmaafbs wmiften wmfe 2

(A) wnfefas (B) o=

(C) Tercdrena (D) Hrab=

49. Which one of the following is used as the water absorption organ in foliose lichen?
(A) Root hair (B) Rhizoid
(C) Rhizine (D) Velamen

g5 1 faufeifes comfd cwforss AR Sarmes 5% B ITe W2
(A)  q=1CdT< (B) AMRELHS

(C) d<rEfes (D) (S

50. The term ‘pomology’ refers to the study of

(A) inflorescence (B) orchid
(C) root (D) fruit

¢p | ‘N’ *=Afs (I M8 HooffES 2

(A)  o[=if=m (B) wi¥s
(C) ¥ (D) ¥4
* Y%
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